= A
N = 0 &8 AFH Y & A AN
2015 = = 1 g et HAESClAAIE A
2SA HACZRAANYA
M. HAaAZ2A MSAA2L
S MAE22 (e &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
HaL-ZelAAgA 2,171,406 931,316 1,240,090
HAL-Z2A MSAE2 303,020 232,205 70,815
M= AlA e 303,020 232,205 70,815
As=gHss 292 91,609 49,155 42,454
101 Q124 H 2,317 2,113 204
04 JI2H2R2IEE S 2,317 2,113 204
OSBRSS F2 09
2A 46,3309 * 201 x 253 2,317 2,113 204
201 B2 44,642 41,042 3,600
01 At 22l H 7,300 6,500 800
ol2g+¢] 7,300 6,500 800
OMSEFNSH 3B £3E 7Y
800,000 * 14l 800 0 800
02 2229 37,342 34,542 2,800
O [AM&ZEHISXIHl] 4,800 2,000 2,800
OMNS=EENE AE2R X
AX 3,000,0008 * 14l 3,000 1,500 1,500
OdSSsEM=sa &Y FA22
22X 1,000,0008 * 14l 1,000 500 500
OMSESHESE ZYAE gI22H]
800,0002 * 14l 800 0 800
401 AlEHIZ =20l 38,800 3,800 35,000
01 Al&H| 38,800 3,800 35,000
OMSEsENs2 S2ALANM B3 A
100,000 = 300m 30,000 0 30,000
Ods=sHsa S4 MURIEXI(EAEE)
2,500,0008 * 2J4 A 5,000 0 5,000
405 KH&HE S| 3,650 0 3,650
01 IHAtY 2 E F SH 3,650 0 3,650
OdsEsisd SsIFA(HRAETH)P2 LY
2,500,000 * 1K 2,500 0 2,500
Otts=seisa at&Ea =20l 7Y
350,0002 * 1CH 350 0 350
OMS=FHSZ YED 7Y
800,0002 * 1CH 800 0 800
AS DE2sE 292 211,411 183,050 28,361
101 1A H 5,727 5,400 327
04 JI2H2RHEE S 5,727 5,400 327
OoX&CRAH Ha02A
AN 46,3302 * 201 * 403 3,707 3,380 327
201 LBt 25,000 5,000 20,000
02 222 25,000 5,000 20,000




2A:
CHAa-E2A MSAL2E

el

X ZH
S =

Hac-ZSclAAgA

M AL 2tel

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OUZHLIZLE 24 Xyl
2,000,002 * 1] 2,000 0 2,000
ONSZE2SE 2523
2,000,008 * 9} 18,000 0 18,000
307 P12H0I & 8,034 0 8,034
S EEEE] 8,034 0 8,034
ONSHAENCOEIE US4 AEE
65020 * 1,030m * 122 8,034 0 8,034
Ha-Z2As =XF2 =4 276,684 84,070 192,614
EFE-LIPOEy k1] 276,684 84,070 192,614
CEPE-EIPES T 96,500 40,000 56,500
401 AIEHI L 2T B 96,500 40,000 56,500
01 Al bl 95,650 40,000 55,650
OlA&YI] 94, 150 40,000 54, 150
O=XCH BHOIl  ZF 2508 * 256,600m 64, 150 10,000 54, 150
OSSN SIS AUHB HEH
30,0008 * 507K A 1,500 0 1,500
03 Al = Ch bl 850 0 850
O=x2e2 2LEX L}yl
94,150,0002 * 0.902% 850 0 850
HALZEeA 24 22 69,042 37,062 31,980
401 AIEHIL 2 THHI 31,980 0 31,980
01 Al bl 31,980 0 31,980
ONzs HE 41,0000 * 780% 31,980 0 31,980
EPS-EPSE EETGBIEY 104,134 0 104,134
101 @121 81,486 0 81,486
MIIZHIZRSE+ 81,486 0 81,486
OUUEX Haoley
46,3308 * 591 * 2492 57,681 0 57,681
OUMER Baole =gsd
46,3308 * 591 * 42 * 122 11,120 0 11,120
OUEX B0l FEFIHY
400,000 * 50! 2,000 0 2,000
OUUEX BAQR 4R H
57,681,008 * 9.85471% 5,685 0 5,685
OUEX Haoe g3
,000,0002 * 59! 5,000 0 5,000
201 et bl 22,648 0 22,648
01 Ak 22l bl 21,340 0 21,340
OMEX B#ZFHolY S50 X
50,0008 * 474 * 53l 1,000 0 1,000
OUEX SEHIIS PIEH el
226,0002 * 90E 20,340 0 20,340




2A: HALZ2AAEA
Y& gaL-BolA SXNFB X4
Chelr HakZ2lA sh2el (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
02 2324l 1,308 0 1,308
OFAXE RFUH 1,307.31& = 1,000 1,308 0 1,308
HELASHI 249 649,640 212,148 437,492
A S 2tel 649,640 212,148 437,492
t2szel 517,840 212,148 305,692
201 fEt2E | 390,390 124,698 265,692
02 2324l 390,390 124,698 265,692
ol2222 ¥ HMAl 390,390 124,698 265,692
OHIAILE2A Jt2s &IIe2
2 & 500,500% * 6504 « 12012 390,390 124,698 265,692
401 AIEHI L 20HEI 127,450 87,450 40,000
01 A& HI 127,000 87,000 40,000
O[AI&HI] 127,000 87,000 40,000
OHIALZ2A Jt2S A4 LA
2 & 4,200,000& * 1000 A& 42,000 12,000 30,000
OHIALZc2A Jtz2s &)= EA
50,000 = 20004 & 10,000 0 10,000
tss el 131,800 0 131,800
201 ¢4l 15,600 0 15,600
02 =224l 15,600 0 15,600
OHIALEeA MsE HIRS
65,0003 * 2000 = 123 15,600 0 15,600
401 Al HI K 201 I 116,200 0 116,200
01 A& HI 116,200 0 116,200
OZHA MSS 44X 90,000,000& = 1JH A 90,000 0 90,000
OL=MO0I Wi 10,000,000& = 100 A 10,000 0 10,000
ORSHEESE (0FZBEAII)
1,200& = 1,0000H 1,200 0 1,200
OnFMSS RAE== SA
15,000,000& = 14 15,000 0 15,000
MEEHT =24 2 29 909,268 388,839 520,429
Ha=ZelA JIBtAIE FH| 596,642 302,441 294,201
HI2=ZclA DJIBtAIE ALY 591,442 302,441 289,001
101 14l 87,344 80,621 6,723
04 DIt Z22HEE = 87,344 80,621 6,723
OtHa:=2clA e XM AR
ZE 46,330 * 20Q1 = 75¢ 69,495 63,375 6,120
Ofla:=2clA e XM URY 4L
== Z & 69,495,000& * 9.85471% 6,849 6,246 603
201 et 30,764 16,251 14,513
01 AFR2t2ltl 18,990 8,400 10,590




CEHA-B2ANA
D AYET 8 W 2y

= i<

D HALESelA JIBAE FHI

SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" HlnE2
Oflget=&Hl] 5,100 3,000 2,100
OHIAL=3clA 24T AKX GE =
K& 70,000& = 1008 = 33l 2,100 0 2,100
Ol3l] 490 0 490
OM&=Z& =&l 7,000& = 501 % 14 490 0 490
Olgxz] 13,400 5,400 8,000
OM&EXE dX=z 4,000,000& * 23 8,000 0 8,000
02 2324l 11,774 7,851 3,923
O[Xrg - detdl] 10,423 6,500 3,923
OHAXE FFU 1,307.31& = 2,0004 2,615 0 2,615
OM&AXE RFU 1,307.31& = 1,000 1,308 0 1,308
202 O4dl 3,000 1,000 2,000
01 = LH 4 Hi 3,000 1,000 2,000
O&&AHEX BIXIOHY O8I
125,000& * 4021 * 43| 2,000 0 2,000
206 M= Hl 15,884 7,119 8,765
01 =8l 15,884 7,119 8,765
Otz HM&eE gstz2s 2¢
451,000& » 15& 6,765 0 6,765
Oz HM&EE 27 20,000& = 100m’ 2,000 0 2,000
207 O H] 30,000 0 30,000
01 289 30,000 0 30,000
OLUABEH EIg A8
30,000,000& * 14l 30,000 0 30,000
401 Al HIZ 201 Y] 422,500 195,500 227,000
01 A& HI 419,500 195,500 224,000
OHAaL=ZelA HGIEZ AME=>
Z2 & 3,400,000& * 200H 2 68,000 20,000 48,000
OHIAIALEC2A T 2USAHEALES AX
2 & 200,000,000& * 14! 200,000 100,000 100,000
OUsaE ASZ X2 WS A
25,000,000& * 200 A& 50,000 0 50,000
OltHEE ItH T M 10,000,000& * 2km 20,000 0 20,000
Otf+==2&X % 220 FH|
300,000& * 2000 2 6,000 0 6,000
03 Al S THHI 3,000 0 3,000
OEZZHIAIY =& 20l
454,500,000& = 0.66% 3,000 0 3,000
HAaLZ2cs nsdI2Y 5,200 0 5,200
201 Let24E] 1,200 0 1,200
01 At 22l 1,200 0 1,200
Ousdd & Usi 2 222 MH
100,000& » 3& = 28 600 0 600




2N

Hac-ZSclAAgA

Ha: MUK X8 2 2Y
Sl BT BolA JIBAIE F| CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SEEERL N EEEN IR
300% * 2% « 1,0000H 600 0 600
401 A& HI LSO HI 4,000 0 4,000
01 Al& I 4,000 0 4,000
OHALE2lA JILHE SX24
4,000,008 * 14! 4,000 0 4,000
NEEERT] 110,626 86,398 24,228
TANG SR 110,626 86,398 24,228
101 1218l 41,046 37,818 3,228
04JIAH22RSES 41,046 37,818 3,228
OHALEB2lA IEsFA a2
HH 46,3309 * 301 * 2402 33,358 30,420 2,938
OHALEB2lA 3T 2R 42
2 27 33,358,009 « 9.85471% 3,268 2,998 290
206 TH 2 bl 2,000 0 2,000
01 HE bl 2,000 0 2,000
OBAANLE o8 2DETY(UAH 9 3
z) 2,000,00020 * 1A 2,000 0 2,000
401 A& H LSO HI 44,000 25,000 19,000
01 Al 44,000 25,000 19,000
OHALEZ2lA BHALES Y|
23 11,000,0008 * 404 44,000 25,000 19,000
SAMAHR2IE 202,000 0 202,000
SHANAST 2B 202,000 0 202,000
202 01 bl 2,000 0 2,000
01 2ol bl 2,000 0 2,000
OSANET FWAAS ALFT
20,0002 * 201 * 502 2,000 0 2,000
306 2013 200,000 0 200,000
NIEEE] 200,000 0 200,000
OUEMESBNT ZLAMY 503
200,000,0002 * 14! 200,000 0 200,000
BH2AAH (B2l AAML) 32,794 14,054 18,740
EETT 32,794 14,054 18,740
HacEelAzelg Jl2R 26,314 14,054 12,260
201 L2yl 5,194 10,214 4,980
01 Ak 22l 13,940 9,744 4,196
Olger+gH] 6,000 2,160 3,840
ORN2Y SAUNY
2% 6,000,008 * 14! 6,000 2,160 3,840
SI=ETN 2,240 2,184 56




SM: HA- B2 AAMYA
Ho: BHSYYH (HI-B2lAMgL)

& 123l (Sl & &)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
ORMN2E SHUAY
Z&E 7,000& = 82 ~ 40 2,240 2,184 56
ol2g=+¢] 5,700 5,400 300
oHIAZLZ2clx X
d & 50,0003 121 = 114& 5,700 5,400 300
02 3324l 1,254 470 784
Ol¢EHl] 1,254 470 784
OHIALZelA HEAIE AZHI
d & 1,307.31& » 15.98¢ 60 1,254 470 784
202 04l 5,600 3,840 1,760
01 SLHOYI 5,600 3,840 1,760
ORNZ2YE SN
2 & 20,0003 = 8¢l 35 5,600 3,840 1,760
203 @2 =&l 3,520 0 3,520
02 §3 ety =4 520 0 520
OFAJtatg =&Y 40,000& = 13¢ 520 0 520
04 FEN2EYRFAH| 3,000 0 3,000
ORMEY g8l 250,000& » 12 3,000 0 3,000
405 TtabH S| 2,000 0 2,000
01 AL ESFH SH 2,000 0 2,000
O&JII=2t2=I] ¢ 500,000& * 14 500 0 500
OS2 A 241 1,500,000& = 104 1,500 0 1,500
MEHAEE Jl=dl 6,480 0 6,480
201 LEr2A | 3,280 0 3,280
01 At 22l bl 3,280 0 3,280
ORNMEY SHAY 2,160,000& = 14 2,160 0 2,160
O=&Hl 7,000 * 421 » 40 1,120 0 1,120
202 o4 Hl 3,200 0 3,200
01 SLHOHI 3,200 0 3,200
O=U0oitl 3,200,000 = 14 3,200 0 3,200




